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e 2 1 7 - - - - - -
L H 1 2 1 — — - - -
i o 2 3 - - - - - -
7 L 4 2 2 - - - - -
" i 5 6 - - - - - -
A . 2 . - . - - - -
/N A 12 16 - 1 - - - -
x a7 . 3 - - - 1 - -
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e 2 - 1 - - - - - -
s 2 - - - - - - - -
i o - - - - - - - -
7 L - - - - - - - -
5 i - - - - - - - -
A 2 - - - - - - - -
i * - 1 - - - 1 - 1
x a7 : - : : : - : 3
E 5 - - = - - - - 1
1 5 = - - - = - - -
E 5 & - - - - - - - -
— RERBEE BEEE. OR | WEEE BEE | SEUSE
SRER | zof | GPER | zof | GPER | zof | gPER | zof
s # 8 1 1 2 3 4 3 -
e 2 i - - 2 - - - -
T 2 3 - - - - - - -
m o - - : - - 1 - -
7 L - - - - - - - -
R H - 1 - - - 1 - -
o # . - . - - - . -
VN x 1 - 1 - - 2 1 -
x a7 - - - - - - - -
k % i - - - 3 - - -
1 5 i - - - - - 1 -
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# 5 - - 54 34 - -
" 2 - - 6 4 - -
£ H - - 3 2 - -
m o - - 2 2 - -
7 L - - 2 2 - -
R H - — 5 4 - -
A~ % - - 2 - - -
n * : - 9 10 - -
X a7 - - - 2 - -
k. 5 - - 6 3 - -
I 5 - - 7 3 - -
i) — - 12 2 - —
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